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	Inheritance: Part 2


	If you inherit two copies of every gene, how do your cells know which version to use?

“So whilst the genetic cards are dealt, one of the copies from either mum or dad is turned off. The gene is present, but doesn’t work.”
Alternative forms of genes, called alleles, can be dominant or recessive.

Dominant 

A dominant allele will always be expressed, even if you inherit only one copy.

Recessive 

A recessive allele will only be expressed if both copies of it are present.

For example, the allele for brown eyes is dominant, and the allele for blue eyes is recessive.

So whether you have two brown alleles, or just one, you will have brown eyes, as this allele is dominant.

And if you have blue eyes, it means you have two recessive alleles for blue eyes.

Some diseases are caused by recessive alleles.

Cystic fibrosis is a progressive lung disease, caused by a single recessive gene.

Cystic Fibrosis

Both parents can carry this allele, and not have the disease themselves, but they can pass it on to their children.

Blue card = Cystic Fibrosis

There is a one in four chances their child will inherit the allele from both parents, and so have the condition.

Huntington’s disease is also caused by a single faulty allele, and affects the brain and nervous system. 

Huntington’s Disease
But unlike cystic fibrosis, Huntington’s is caused by a dominant allele.

So you only need to inherit one copy of the faulty allele to have the disease. 
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	This means, if only one parent is a carrier, there is still a 50% chance of having a child with the disorder.
Pink card = Huntington’s Disease

But most diseases and characteristics are determined by very many genes working together.

“You look much more like your mum…”
And are also influenced by the person’s environment and lifestyle.
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